TotalMarks:.... Class:9th Time:....
Test:Chemistry

Attempt ......... questions

' The most reactive non-metal is: -‘Lgﬁ ut}g Gmlie o
a.F b. Cl a.F b.Cl
c.Br d.l c.Br d. 1

2 Metals are generally good conductors of : £ Sln j’/ ML ol 7 /:lﬁ (of A
electricity because:
a. Mobile electrons are present a. v 8s 7 /.Q IJ’/Q}*‘
b. Metal cations are present b. J! Ln;ﬁrcf l‘}fd'%
c. They are hard enough c. et K
d. Mobile protons are present d. - sy 7y J’gr

3 Sodium is very reactive metal but it does not djjpéw/;u:UIUQ_‘L‘f:}gd/%@jy
react with: ‘3/ u..’( .b{l

a. Hydrogen b. Nitrogen a. S 1 b. Sl
c. Sulphur d. Phosphorus c. & d. J#6

¢ Electronic configuration of potassium is: -‘Lﬁf:&’( £ }g ld/ (7 B’;’:
a. (He)2s' b. (Ne)3s' a. (He)2§, b. (Ne)3s'
c. (Kr)ds' d. (An4s' c. (Kr)4s' d. (An4s'

> Which one of the following element is the ?‘&_&{{lL/uj/Ul,é,ﬂ“/v&E/;lU“}'Kyc;uﬁcﬂ
lightest and floats on water
a.Ca b.Li a.Ca b. Li
c.Na d. Mg c.Na d. Mg

® Which one of the following nod-retals is ?‘L:}’J Lz“f’ldl”:ut(f/cuﬁw
extremely hard:
a. Graphite b. Phosphorus a. &S S b. ¥
c. Diamond d. Iodine c. X4h d. /377

/ The percentage of Nitrogen in air is: Py Ju?,j-’tu:m
a. 70% b. 787 a. 707 b. 78%
c.21% d. 20% c.21% d. 20%

V
The colour of flame of Magnesium in air is: :th.”"f/{gé({O@&iuﬁ'”

a. Brilliant white  b. Brick Red ey b. JI8
c. Golden Yellow  d. Pale Yellow d. e s
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